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(a) EFEHBE X Eﬁﬁﬁﬁ&&% n e BIRE p  “HAE - (5%)

(b) 2= RSB R TR (x) =F’£—)xa-' exp(-2x),x > 0 * (5%) |
Y !

(©) B BB BB (x) = S x = 0123, + (5%)

x!
(@) 2 RSB MR ERMRS (1) =~ B (1 < x <t »
T(@T(B)
(5%)

2. If you want to be 95% confident of estimating the population proportion to within
an error of +0.04, what sample size is needed ? (15%)(EREETHE R 2K
HiatER) ’

(8) HARCRH RAEREH(5%)
(b) {5 FRHFBYBEBA (characteristic function)ZB R o SLARFR I (15%)

3.Let X|,X,,-,X,, n>2,bearandom sample from the binomial distribution
B(1,6).
(a) Show that ¥, = X, + X, +.-+ X, is a complete sufficient statistic for 4.
(10%)
(b) Find the function @(¥,) which is the unbiased minimum variance estimator
of 8.(5%)
(c) Let Y, =(X,+X,)/2 and compute E(Y,|Y, = y,).(10%)

4.1f X,,X,,,X, isarandom sample from a distribution with pdf
f(x):-ZLG’x’ exp(-6x),x>0, 6>0.

(a) Findthem.le, § of 8.1s § unbiased ? (10%)

(b) Show that -/-Y);'- and Y are independent, where Y = ZX ; (10%).
jol

(Hint: First find the pdf of )




